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Knit on right side rows, purl on wrong side rows

Purl on right side rows, knit on wrong side rows
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Slip stitch purlwise

Bobble: Kfb, turn, p2, turn, k2tog

I O I (o T R ey [

The green line shows where you should pick up the bar between the stitches and purl it
together with the preceding stitch to close the gap next to the bobble.

Each square represents a stitch except for the squares representing a bobble..
Read all odd numbered (WS) rows from left to right, and all even numbered (RS) rows from right to left.
Row 1 is a WS row.




